




In this question, a sentence has been divided into four 

parts (A), (B), (C) and (D). Read the sentence to find out 

whether there is any grammatical error in it. The error if 

any, will be in one part of the sentence. Mark that part as 

your answer. If there is no error, the answer is ‘No error’. 

Ignore the error of punctuation if any.



The night was clear and cool, (A) the sky a beautifullest

pageant (B) of dark blue silk and brilliant stars (C) of 

streaking meteors and two glowing orbs. (D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error



Both Amir and Ajay (A) worked hard for (B) his 

promotion during (C) the winter break period. (D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error



Teenagers who (A) drop back of (B) high school have 

(C) trouble finding jobs. (D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error



I was as eager (A) as the others (B) to hearing results, (C) 

but my mind shifted to the practical.(D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error



It's late (A) so I don't think (B) Rahul is doing (C) his 

homework tonight. (D)

1. (A)

2. (B)

3. (C)

4. (D)

5. No error



Given below is a word, followed by three sentences that 

consist of that word. Identify the sentence(s) that 

express(es) the meaning of the word.



RECORD

A. The airline has an excellent safety record.

B. He is aiming for the 100 meters world record.

C. Her actions record with her words.

1. Only A

2. Both A and B

3. Only B

4. Both B and C

5. Only C



SCOPE

A. They have to scope with a mountain of problems.

B. Leave no scope for misunderstandings of any type.

C. Let's go inside and scope out the menu.

1. Only A

2. Both A and B

3. Only B

4. Both B and C

5. Only C



CLEAR

A. She is not quite clear about the arrangements for tomorrow.

B. The water was so clear that we could see the bottom of the lake.

C. All cats love fish but clear to wet their paws.

1. Only A

2. Both A and B

3. Only B

4. Both B and C

5. Only C



In the given question, a word in the sentence is printed in 

bold. Below the sentence, alternatives to the emboldened 

part are given which may help improve the sentence. 

Choose the given alternative out of the given five options.



Rigid hierarchy and arbitrary authority led to 

sycophantism, fear, and pleasure.

1. Experience

2. Obeisance

3. Reverent

4. Veteran

5. Joy



The effect of press and television coverage on 

disruptive children has been satisfactory.

1. Beguile

2. Diabolical

3. Definite

4. Callous

5. None of these



Fill in the blanks in the passage below, with the word from 

among the options given for each blank labelled (1) to (7). 

Choose the word that fits in each blank most appropriately 

in the context of the passage.



I found that a person of large intelligence could read this beautiful 

language with a considerable facility without a dictionary, but I 

presently found that to such a ___(1)___ a grammar could be of use at 

times. It is because if he does not know the were's and the was's and 

the maybe's and the has-beens apart, confusions and uncertainties 

can___(2)___. He can get the idea that a thing is going to happen next 

week when the truth is that it has___(3)___ happened the week before 

last. Even more previously, sometimes. Examination and inquiry 

showed me that the adjectives and such things were frank and fair-

minded and straightforward, and did not shuffle; it was the Verb that 

mixed the hands, it was the Verb that ___(4)___ stability, 



it was the Verb that had no permanent opinion about anything, it 

was the Verb that was always dodging the issue and putting out the 

light and making all the trouble.

Further examination, further ____(5)___, and further reflection, 

confirmed this judgment and established beyond peradventure the 

fact that the Verb was the storm centre. This discovery made plain, 

the right and wise ___(6)___ to pursue in order to acquire certainty 

and exactness in understanding the statements which the newspaper 

was daily trying to ___(7)___ to me: I must catch a Verb and tame 

it.



I found that a person of large intelligence could read this 

beautiful language with a considerable facility without a 

dictionary, but I presently found that to such a ___(1)___ a 

grammar could be of use at times.

Select The most appropriate option to fill in blank number 1.

1. body

2. customer

3. person

4. animal

5. character



It is because if he does not know the were's and the was's and 

the maybe's and the has-beens apart, confusions and 

uncertainties can___(2)___. 

Select The most appropriate option to fill in blank number 2.

1. cause

2. finish

3. disappear

4. arise

5. vanish



He can get the idea that a thing is going to happen next 

week when the truth is that it has___(3)___ happened 

the week before last. 

Select The most appropriate option to fill in blank 

number 3.

1. once

2. afterward

3. next

4. behind

5. already



it was the Verb that mixed the hands, it was the Verb that 

___(4)___ stability, 

Select The most appropriate option to fill in blank 

number 4.

1. want

2. lacked

3. miss 

4. require

5. desire



Further examination, further ____(5)___, and further 

reflection, confirmed this judgment and established beyond 

peradventure the fact that the Verb was the storm centre.

Select The most appropriate option to fill in blank number 5.

1. inquiry

2. study

3. request

4. scrutiny

5. poll



This discovery made plain, the right and wise ___(6)___ to 

pursue in order to acquire certainty 

Select The most appropriate option to fill in blank number 6.

1. disorder

2. closure

3. interruption

4. course

5. bustle



and exactness in understanding the statements which the 

newspaper was daily trying to ___(7)___ to me: I must catch 

a Verb and tame it.

Select The most appropriate option to fill in blank number 7.

1. convey

2. disclose

3. conceal

4. suppress

5. withhold
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YOU


